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T 3,036 3,291 255 8%
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2 of 48,887 70,242 21,355 44%

H & g 0 800 800 —
EEEEEEREELEE 3,924 5,674 1,750 45%

A3 28R g3 4,197 7,068 2,871 68%

g c Hl 15,892 47,206 31,314 197%

of bl 1,680 5,760 4,080 243%

% = bl 14,097 41,246 27,149 193%

MM = D2 115 200 85 74%

A5 RER SYZA_SIHEX 8 8,000 0 —8,000 -100%
At 2 HI 8,000 0 -8,000 -100%
2 c bl 8,000 0 8,000 -100%

+ 8 H 2 28 6,520 0 6,520 ~100%

= z 2 2 1,320 0 1,320 -100%

MM = o2 160 0 -160 ~100%




N =

a | & < ELTS 2o =
ol &H(A) 0l 44(B) o4 (B-A) Hl € (%)

A6 ZSER OIS _QUAXNSALEE S 27,000 0 -27,000 -100%
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